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F 2,002 1, 261, 962 630 F o 7,679 1, 134, 282 148
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[iF] 1 4, 560 176, 132 39
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[if] ] 280 15, 400 55 5 R 7,276 418, 519 58
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EES B - EHYEE (1 2)

S 44E 5 Wl A - gk -
E O K &= 4 R Tk PE H = & #H STk
B X 52 374, 110 7,194 i 2,519 3,357,010 1,333
T 3 962 1, 642, 520 1,707
if] A 108 277, 640 2,571 TIOT BN
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7 71 144, 144 2,030 FYINT
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Z DA E 48 36, 696 765 | I B 637 545, 360 856
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& [if] 46 73, 040 1, 588 BRI
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T i} 14 98, 450 7,032
PRT at 305 780, 428 2,559
N = 109 9, 147 84
153 B 33 35,915 1, 088 KT TU—FRvF—
i [if] 80 27, 280 341 = Fall 12 13, 904 1, 159
= Pl 410 160, 215 391 ;U 31 147, 290 4,751
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